AUSSIE SPARES DIAGRAM & PARTS LIST

AUSSIE GMP PUMPS: B4XR-A/ST witH 204P ELECTRIC MOTOR

CAT tAS7
8926 6015 6214 6184 6246 5931 Electric Motor Complete 400/690 - 8699 -
! 6031 gg20 5841 ROS2 ROT3
X N
R0S1 R0BZ RO056 RO060
RO64
8185
6325
8932 —
2008
8975
8938
6313
6178 3 :
6263
6209 H913 8697 8404 6353 6035 6239 5076 6301 R088 R092 9535 9540 8686 6296
| 3
Quality
1S0 9001
@©sacLomaL
Part Part
Number  Qty Description List price ‘ Number  Qty Description List price
5020 4 T.E. Screw M 10x35 $2 6325 1 Key B 6x6x20 $5
5076 1 Extension Shaft $415 6353 1 Counterface 27-50-10 $30
5188 2 Grub Screw $2 6841 1 Rivet 6.5x20 $4
5841 1 Bracket B 3075/1 $949 7942 4 Zinc Nut M 10x1.5 $2
5868 2 Counterweight B4XR-A $18 8185 3 Torque Nut M5 A2 $4
5931 1 Flange B4XR-A G 1083 $139 8404 1 Mech. Seal 25-47-14 $268
6031 1 Flex. Gasket G 1089 $13 8686 2 Base Elec. Motor $154
6035 2 Flex. Gasket B 1056 $18 8697 1 Impeller B4AXR-A/ST $1,036
6104 1 Check Valve G 1085 $95 8699 1 Electric Motor 20 HP $5,956
6161 1 Washer D.7x75x2.5 $11 8920 1 Pump Casing B4XR-A/ST $3,203
6169 2 Copper Washer $4 8926 1 Valve Body B4XR-A/ST $570
6178 1 Washer B 2901/2 $5 8932 1 Inspection Door $154
6184 1 Flex. Washer 41x50x2 $7 8938 2 Gasket for Inspect. Door $30
6209 1 Conical Tap %" Gas $6 H913 1 Stainless Steel Disc SCH-2810/A $185
6214 1 Conical Tap 174" Gas $26 8975 2 Complete Pin M10 $54
6239 8 Hex. Head Screw M10x25 $4 9008 2 Grub Screw M10x70 $6
6246 4 T.E. Screw M 12x55 $7 F159 3 Washer $6
6263 5 OEB Screw M 10x30 $2 F476 1 Nut M12x1.75 $14
6301 4 Hex. Head Bolt M12x55 $13

Australian Pump Industries Pty Ltd | 7 Gladstone Road, Castle Hill NSW 2154 | P: 02 8865 3500 | F: 02 9894 4240 | www.aussiepumps.com.au

All prices exclude GST GMP/JUL18/1



